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CNCC-2 : ORGANIZING CHILD CARE SERVICES 

Time : 3 Hours     Maximum Marks : 100 

Note : Question No. 1 is compulsory. Answer any 

other four questions.  All questions carry 

equal marks. You have to answer five 

questions in all. 

1. (a) State in a few words, what concept or 

principle is represented through the 

following statements : 5 

(i) Any action, word or thing that 

motivates the child to repeat the 

desirable behaviour. 

(ii) Children engage in the play activity as 

per the guidance of the teacher. 

(iii) Using two words the child expresses 

the meaning of an entire sentence. 
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(iv) The child uses a wooden block as a 

telephone. 

(v) The child imitates the behaviour of the 

person with whom he/she is attached. 

(b) The following is a list of activities. State 

one main area in which each activity 

fosters development : 5  

(i) Grouping objects with common 

properties 

(ii) Picture reading 

(iii) Putting beads of different colours in a 

string according to the given pattern 

(iv) Drawing 

(v) Playing an outdoor team game 

(c) Give one example of each in about  

2-3 sentences only. Do not give explanation 

or definition of terms : 2×5=10 

(i) Centre-to-periphery direction of 

development 

(ii) Free play 

(iii) Animism 

(iv) Parents talk reflecting power-oriented 

disciplining 

(v) Parent as a model 
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2. (a) Discuss giving examples how gender 

influences the experiences of the child. 10 

(b) Explain, giving examples, any five (5) 

benefits of art activities for young children. 

10 

3. (a) What is altruism ? State any four ways 

through which parents can support the 

development of altruism in the child. 2+8 

(b) A preschool teacher wants to support the 

language development of 3 year old 

children in her class. Suggest any five 

strategies/activities he/she can use to do so. 

10 

4. A preschool teacher has made the following 

schedule of activities for his/her group of 15 

children who are around 4 years of age : 

Time 

Period 
Monday Tuesday Wednesday 

9 a.m. to 

9.30 a.m. 

Children arrive; assembly and 

getting ready for the day 

9.30 a.m. 

to 10 a.m. 

Story 

telling by 

teacher 

Drawing Children 

sort and 

match a 

variety of 

objects and 

cards 
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10 a.m. to 

10.30 a.m. 

Story 

telling by 

children 

Clay work Children 

put beads 

in a wire  

according to 

the given 

pattern  

10.30 a.m. 

to 11 a.m. 

SNACKS 

11 a.m. to 

11.30 a.m. 

Songs and 

rhymes 

Sand play Children fit 

jigsaw 

puzzles 

11.30 a.m. 

to 12 noon 

Puppet 

play 

Vegetable 

and leaf 

printing 

Children 

arrange 

sticks, 

beads and 

shape cut 

outs on 

basis of size 

(a) Is the schedule of activities for 3 days 

appropriate ? Give reasons for your 

answer. 10 

(b) Make a schedule of activities for 3 days for 

15 children of around 4 years of age. You 

may use the activities mentioned in the 

above schedule or suggest new ones. 10 
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5. (a) What is meant by sensori-motor period of 

cognitive development ? 5  

(b) State the main characteristics of each of 

the six substages of sensori-motor period. 

Give examples. (15; 2
1

2
 marks per stage) 

6. (a) What is the need for a preschool teacher to 

assess children’s progress ? Give any four 

reasons. 8 

(b) A mother seeks your guidance to identify 

an appropriate preschool for her child. 

Suggest any six criteria which you consider 

are of critical importance. 12 

7. (a) List the milestones of children’s gross 

motor development in the first two years. 

10 

(b) What is the significance of involving 

parents in the activities of the ECCE 

centre ? Suggest any three ways of 

involving them. 4+6 

 

 

 

 

 



 [ 6 ] CNCC-2 

   

      CNCC–2 

2023

-2

]

 (i)  ]

 



 [ 7 ] CNCC-2 

  P. T. O. 

 (ii)  

 

 (iii) 

 

 (iv) 

 

 (v)  

]

 (i)   

 (ii)   

 (iii) 

 

 (iv) ª  

 (v)  

2×5=10

 (i)  
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 (ii)   

 (iii)  

 (iv) 

 

 (v)   

10 
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